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-
Define a Minimum Bit Rate per Radio Bearer.
-
The radio bearer is split between those packets which fall below the minimum bit rate, and those packets which fall outside the minimum bit rate. 
-
Assign a relative priority to each part of each radio bearer.

-
The UE reports the status of each Radio Bearer.
-
When allocated resources the UE would serve each priority in descending order.
Example

In the above different for each radio bearer the queue at any one instant is split between which packets fall within the minimum data rate (green) and those that do not (blue).  The little numbers above the bars, in this example indicate the relative size of these flows and the minimum bit rate for each flow.
The minimum bit rate for Radio Bearer 1 would be Guaranteed for that bearer as it is assumed to be a Guaranteed SAE Bearer, whereas the minimum bitrate for the interactive would be non-guaranteed because it is assumed to be part of a non-Guaranteed bearer. i.e. the eNodeB would not need to schedule resource to the UE to meet the minimum bitrates.
Scenario A) If the eNodeB allocates 17 uplink resources to the UE: 
- The UE would first meet the minimum (Guaranteed) bit rate of RB1, then the minimum bit rate of RB2 (non-guaranteed) and then it would transmit the packets which are outside the guaranteed bit rate of RB1 in the rest of the uplink allocation.
Scenario B) If the eNodeB allocates 10 uplink resources to the UE: 

- The UE would first meet the minimum (Guaranteed) bit rate of RB1
Scenario C) If the eNodeB allocates 12 uplink resources to the UE: 

- The UE would first meet the minimum (Guaranteed) bit rate of RB1 and then use the remaining 2 resource units to transmit packets for the RB2 queue.

 
